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2,1 0000000000
2.1.1 POSCAR.txt

0000000000 DO0000000 POSCARxtODOODDOODOOOCOO
ERERN

file = open(’POSCAR.txt’)
pos=[]
while line = file.gets do
if /Direct/ =" line
while line = file.gets do
posO=line.chomp.split(" ")
posi=[]
pos0.each do |[pl
posl << p.to_f
end
pos << posi
end
end
end

file.close

O0O0000O0000DDOD0OO0OOPOSCARtxtDOOODOODODOpesOODOOODO
O000D0O0O00000000D00Db0o0b0OoDO POSCARtxtODODODOODOO
OO0 VASpOOOOOODOODOOODOOOOOOOOOOOOODOODOD
POSCARt&xtO OO DOGODOOOO



(A1)4

5.718886265000000

0.000000000000000

0.000000000000000
1\\

Direct\\

0.0000000000000000
0.0000000000000000
0.5000000000000000

0
5
0

(Fm-3m) ~ 533 initial: 532 minimi\\
1.00000000000000\\

.0000000000000000
.7188862650000000
.0000000000000000

.0000000000000000
.5000000000000000
.0000000000000000

.0000000000000000\\
.0000000000000000\\
.7188862650000000\\

0.0000000000000000\\
0.
0.5000000000000000\\

5000000000000000\\

0
0
0
0

0.5000000000000000 0000000000000000\\

000 POSCAR.txt 0 Direct 0000 4000000000000000000
0000000 pes000000000O0000010000000000000
0000 x00 yOO 20000000000000000000000000
000000 xyZ000000000000000000000000000
Oposd 10000000000000000000 posO0O [0.00.00.0][0.00.5
0.5] [0.5 0.0 0.5 [0.50.50.5|0 400000000000

.5000000000000000 O.

0 2.1: 00 posd OO

goddzoooobobooouooouooooooobbobobobboooooo
gboobugobobboboboobooboob

2.1.2 size

ARGVn|0 0000000000000 000000O000000oooooo

size = {
=> ARGV[O] .to_i,
ARGV[1] .to_1i,
ARGV[2] .to_1i,

=> atan(1.0/ARGV[3].to_f),

:nx
‘ny =>
‘nz =>

:theta
}

nxny,nz,thetaO DO OO size U OO O0OOOOOOOOODOOODO
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0000000000 00D000POSCARtxtOODOOOODOOOODDOO
gbooboooboobon

2.2.1 POSCAR.txtO0 OO 0O

gogobboobobbouoooooobbbobbooooooobboobouooood
000000((@O00000000000o00o0O0O0000ooOoOOoOoooooO
00o000OD00OD)0DC0000000 (D00 )DODODDOoOoOOOoOUOoOOOO
goggoobbobobobbiloobilooooooobbooobbboooooog
gooooooooooboobooboobobobebOobUbUObOobUoDbOD
goooo

y __ POSCAR.txt |{E%
e @& @
® @& @
e @& @

0 2.2: nxny,nz=2,22000000

O000000D000D0000000 posd x,yzO00OOO0DOODO size(d O nx,ny,nz)
gbogbuooboobbobbobbO0 nxny,nz=222000000000
gobbobogobbobuoooobboood

def extend(pos,size)
atom_pos=[]
for i in 0..size[:nx] -1 do
for j in 0..sizel[:ny] -1 do
for k in 0..size[:nz] -1 do
pos.each do |pOl

pl=0]
p1[0] = pO[0]+1.0%1i
pl[1] = pO[1]+1.0%j



p1[2] = pO[2]+1.0%k
atom_pos << pl
end

end
end
end
return atom_pos
end

ooogobooobbouddd pes00O0O0sizeODOOOOOOposO OO
OnxnynzUOOOOOOOO

2.2.2 U0
T I
°
.|+ ™
o ® *
° . ®
« ®
o ® \9

0 23: pos00006 =arctan(1/4) 00000000

g0o0ob00ob0ob0obOobOobebUObUObOUODOUODULODLDUOLOUODUODOD
O0000000000000000 (D00« 0000DD)0x=0000000
0000000000006 0 arctan(l/n) 000000000



O=arctan(l/n)
tanO=1/n 6

0 2.4: 8 =arctan(1/n) 000 tan® =1/n

060 =arctan(1/n) 000 tan® =1/n 0000000000000 O0O00 n0O
googoe 0000 0On000 nyO0O0O0O 200000000000006
=arctan(l/n) 0000000000000y 000 n/200000000000
O00000000000000 ny=2000000086 =arctan(1/4)0000
goood

def rotation(pos,size)

pos2=[]

pos.each do |posi|
tmp = []
tmp << posl1[0]*cos(size[:thetal]) + posl[1]*(-sin(size[:thetal))
tmp << pos1[0]*(sin(size[:theta])) + posi[1]*cos(sizel[:theta])
tmp << pos1[2]
pos2 << tmp

end

return pos2

end

gbogboobuogbodgbogobuoobuoobuoobuooboboboodao
UdbbpesUddbbbdsizeUOODDOOOOOO
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gbdbobgobuoooobobdxpooooobobobobobobobd
gogbbobogogbboboooobobbooogoon

def translation(pos,size)
dx
dy
10 *size[:ny].to_i.times do

sizel[:nx] .to_i * cos(size[:thetal)

size[:nx] .to_i * sin(size[:thetal)

for i in 0..pos.size-1 do
if pos[i][0] < -0.00001 then
# if pos[i][0] < O then
pos[i] [0] = pos[i] [0]+dx
pos[i]l [1] = pos[i] [1]1+dy
end
end
end
return pos

end

OxOddboooboobooobDxUbo0 xyooody oo
0000000000 dx0O nx*xcosB Odyd nx*xsin® OO0 O ODOOOO



224 0000

O 26:x=00000000000000000000

0x=000000000000000000000x=000000000000
(0 2.6)

def mkMirror(pos)
dummy = Marshal.load(Marshal.dump(pos))
for i in O..dummy.size-1 do
dummy [1] [0] = dummy [i] [0]-2*dummy [i] [O]
end
dummy .each do |pl|
pos << p
end
pos=Remove_duplicate (pos)
return pos

end

def Remove_duplicate(pos)
for i in 0. .pos.size-1 do
if pos[i] [0] < 0.0001 && pos[i] [0] > -0.0001
pos[i] [0] = 0.0
end
end
pos = pos.uniq
return pos

end
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000000000000002%000000000x=0000000000
0000000000000 0O00O0O0000000O0oOo0OooOooOoOg (x=0
go0CooOO0OO0OO0oO020000)0oooooDoOOOCCOD 1000 bOOoOoOd
ggbobobuooogboboooobbobddtdaaiqboggn

23 UOOO0OOOoOoood

00000 extend,rotation,toranslationmkMirror O 0 OO0 000000 OOO
00000000 txtO0ODOD0DOODOOd

pos=extend(pos,size) //00
pos=rotation(pos,size) //00
pos=translation(pos,size) //0000
pos=mkMirror(pos) //000 O

file = File.open(ARGV[4],’w’) /000000000 (CQOOODOOO)
file.printf("%f \n",size[:nx])
file.printf("%f \n",sizel[:ny])
file.printf("%f \n",size[:nz])
file.printf ("%f \n",ARGV[3].to_f)
file.printf("%s \n","Direct")
for i in 0..pos.size-1 do
file.printf ("%f %f %f\n",pos([i] [0],pos([i][1],pos([i][2])
end
file.close

gogobbbobbbbdooditD nxnynzn U000 o0O0O0 ODOOOOO
00 0 nx,ny,nz=1,1,1 arctan=(1/2) 00 00 0000000000000 OOO
00o0ooOooooooo (,,12)00000oonooooooooo

[roota-2:~/ruby/atom] iwakurashintarou), ruby Edit.rb 1 1 1 2 1112.txt
[roota-2:~/ruby/atom] iwakurashintarouj, cat 1112.txt

nx= 1.000000

ny= 1.000000

nz= 1.000000

cf= 2.000000

Direct

0.000000 0.000000 0.000000

0.670820 0.894427 0.500000

0.447214 0.223607 0.500000
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0.223607 0.670820 0.000000

-0.670820 0.894427 0.500000
-0.447214 0.223607 0.500000
-0.223607 0.670820 0.000000

gboooobodboboobboooboobobDbirectd 0o booooon
ggbbobuooobobbooogn
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gbobobobobobobuobuoooobobOlULennerd-Jones O O
gboobobogo200b00bboobuoobbooboobbooboonon
gogobbobobbooooogobbobbodooooobobobboooooon
ggobobod

3.1 L-J-Potential

U(r)=4e [(o /r)* = (0 /r)°] (3.1)

O Lennard Jones Potential 0 200 00000000000 0OO0O0O0OO0OO0O
gobood

0 3.1:00000b0b0buoagboon

0000000000 U(r)000000000000000U(r)0 20000
O0r00000000000000e 000000O0ODO(0O0O0O0Yy0O0OOO
00000)00000000000000000000O00000OOO0O0O0OO
0000 Lennerd-Jones 0 000 0000000000000 40000000
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0000000000000c /r0e 0000000000 OOOOODODOOO
gogoooogo

A0=1.587401051
EO=-1%4.0/12.0
def ij_energy(r)
a=1.0/(AO*r)
return EO*((a**6 )-(a**12)) //Lennerd-Jones
end

000000:000020000000000000000000000000
Do /r000a0000a0 1.0/AO*000000000AODDOO d//2x(0.5%)
0000000000000000500000000000000000000
0000000500000000d00 (1/2)°—(1/z)2000000000 246
00000000000 1.5874010510000000 d0 (1/2)5 — (1/2)2000
00000 1/400000000-1/1200000000-4/1200000000
00000 E0D-1%4.0/120000000000000000000000 class
AtomO0 0000000000 Oclass AtomO0000000000

3.2 NeighborList

O NeighborList(OO NL)OOOOOOOOOOOOOOOOOOOOOOOO
gogobbbbbouooogobbbobodoooobbobboooooon
gobobodbobbooooboooobobooobboooobboooboog

5,
* 8
rd

O 3.2: NeighborList

gl1ggbooooboobobooobuoo NLboboboNLboboonogd
gboogoboobboobooob1booboooboobbooboon
goooogboboobi1oogboobobooboob NLObobobooooo
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def makeNL(rc)
$atom_list.each do |ail ai.reset_nl end
nmax=$atom_list.length-1
for i in O..nmax do
ai=$atom_list[i]
for j in i+1..nmax do
aj=$atom_list[j]
if distance(ai.pos,aj.pos)<rc then
ai.nl << j
aj.nl << 1i
end
end
end
end

ONLODODOODOOOoDboooboobobDOOO$atom_listDOOOO NLOO
gogbbbuolgobbboooobbboooobbbooodobo

def energy()
ene=0
nl.each do |j]
ene+=ij_energy(distance(@pos,$atom_list[j].pos))
end
return ene

end

O2000000000000000000 ij_energy NLOOOOOOOO
gbobobbuodgbliogooboogbbooobboobbob20000000
OO0 distance OO0 OO0OO0OOODOOOODOOO
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3.21 00OD0ODOOO (PeriodicBoundaryCondition)

Bzt L o=NL

0 33: NLOOOOoOooo

OU0DO0000O total-EDO0DOOOOODOOODOODOOODOODOOODOODO
goboobooobooboo0oobooobooooNLODODOODOOoOobOoooooo
ggbbobuoooobbooooobooo

FxHAl & A>TV S Bzt )L
O=NL

(e e

034 000000 0 3.5: PBCOOOO NL

000000000000 0000O0O00O0 (PpPBCO)DO0OOOOOOOOCOO
ggobbbboduoooobobbbbuodooooobbbbbuoooooon
gbbliggboogbobuogoobbuodgbbooboobobuoobbooboo
goboobooooooboboooooboobD o bOoobooboobbOOoDOO
gbooobuoNLgoboooobooboooboooboooo
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def distance(a,b)
tmp=0
for i in 0..2 do
x=al[i]-b[i]
x=x-(x/$L[i]) .round*$L[i]
tmp+=x*x
end
return sqrt(tmp)
end

000000 x=x-(x/$L[i]) .round*$L[i] 0 10000000000 O0O0O0O00O0
ggooobod

3.2.2 00OOOOO (DirichletCondition)

UxbOodbodgbogbbobobogbuooboobboobbobobabb
gbobogbuogbbooboobbooboobbooboobbooobox
gbogbuobuogboobobobobboboobobooboobogood
gbbodbiligbbgoobbooboobboobbooboo1ooboa
gobbuoogobbooobbooobbbuooobbuooobboooboog

g 36 o0ouggn

gogobboobbodooooobbobboogoooobbobooboboogg
ggobbbbuoooooobbbobbuoooooobobbboooooad
ggoboboogiligoobo
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def mkAtom_include
atom_include=[]
max_x = =100
min_x = 100
$atom_list.each do |i_al
if i_a.pos[0] > max_x then
max_x = i_a.pos[0]
elsif i_a.pos[0] < min_x then
min_x = i_a.pos[0]
end
end
$atom_list.each_with_index do |i_a,idx|
if i_a.pos[0] < max_x-0.51*cos($theta) &% i_a.pos[0] > min_x+0.51*cos($theta)
atom_include << idx
end
end
return atom_include
end

O0000000000000 atom_included 00000000 O0OOO0OO
O000000max_x,min xO000000000000O0O 0.51%cos® OO OO
ooooooooo

® o ?
o e 0.5“{:@59.
o
o ® ® L ]
° o
L ® ® (]
@
) o
® [ J

g3 o0boobgn

O000b0o0obO0obOooboobosb0DbbOOODbODO 0.51%xcos® O ODO
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gbodgboobobboboobuooboobobboboobodobadobo
gobbuoggbbooobboooobbuooobbuooobboooboooda

3.3 0000000 (TotalE)

O0b0ooboobo0ooboobooobobooboobodbDetalEODODOOODOO
O00000obDO0bOobo0ooooboobDobobbobwtalEOODODOODODO
gboogbood

def total_E(Q)
total_E=0.0
$atom_include.each do |il
total_E+=$atom_list[i] .energy()
end
return total_E
end

O0000000D00DO$atom_include0 0000000000 0ODOODOOOO
000000 $atom_list[i].energy() O$atom_listD iDODOODOOODOO0O
O00Dooooooooo

3.4 0000 (Relax)

gogobbbobbodooooobbbbbbouooooobbbbbodadao
gogobbobobodoooobobbbbdooooboboobouooooobobon
gogobobodago

3.4.1 00O0O0O (OuterRelax)

gogobobobobooooooobbbooooooobobbboooood
gogboood
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° ™
e b L ] Y
™
° . ™
™ o ® X
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° . °
038 0000

O000000 BrentOO CGUOOODOOOOOOOO brentd 00000
000 Bret OO0OD0O0OODODOOOOOOOOOO (DOOOOxyzODOOOO
0)000000 MapleOOOQOOOOOOO

E
E \ x=0.1515 X
504 y /
* o E=44.46
46.4 e ‘f
Z " total_Efgs]\{E
SE@EERAE 0 3.10: xO OO

O 3.9: brent O

OBrent0 00 yzO000O00O0D00O0OO0O0OD0OO0OD0OO0O0O0OxO000000O
gbbogboodbtbyzOdOODODOOD 10000 110000000O0000DO0
xO0O0OO0O0OO0O0O(000030003100)0Brent0 00000000 totalE
O00000000390000 xyz=222arctan(1/2)0 000000000000
totalE0 OO 444600000 x,y,2=0.15,000500000000000000
ggbobooooboboooon
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for $dy in O..$nrange do
for $dz in O..$nrange do

brent ($xrange0,15.0,$xrangel,0x,1.0e-2,0.0)

end
end

goboboodgbbbdxugoooo

gobooboodo

def block_move(dx,dy,dz)
$atom_list.each do |atom]|
if atom.pos0[0]>=0.0 then
atom.pos[0]=atom.pos0[0]+dx
atom.pos[1]=atom.posO[1]+dy
atom.pos[2]=atom.pos0[2]+dz
end
end
end

3.4.2 0000 (InnerRelax)

gbooobodobbolgooboobbooboobboobooobod

ggboobooogooon

brent U0 O0O0O0OD0 yzOODOODOOO
O0b000booodbbOBrentODO0O00OO0O0oO0OO0oOOoOoOoOoOOObOOODDOO
goobobbobbouoogooobbbobbooooooobobobboodgd

g 3.11:

gooo
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oMCOOOOOOOODOOOoOOoODOobDOoDbObOobOobobooooboooboo
oooO0oooooogoooMCOOOOobDOobOobOobOoboboboboooo
goooo

$inner_rel=%atom_include.size //00000000O0
def relaxed()
block_move ($min[0] ,$min[1],$min[2])
InnerRelax($inner_rel) //00 00
makeNL(0.9) //000000000O0O0O0O NL
$min[3] = total_EQ)
pp $min[3]
end

o0 blockmove D OOOOOOOOOOOOOOOOOOODOOOODOOOO
gboobo0oo0o0obooboobobobobUubOsminfo21000000000O0O
gbogbobobogboboboobooboobooboobooboogood
O000oooob0ooooooooO0NLOODOOtotalED OODO OO totalE
O$min000000D00D01000000000%min(3]000000O0O0O0O
ggbbobooodobobbodn

3.5 U0Uuobouboodboodn

ggbobbboooobb2b0b000obobooooobbbbuoooon
O000booobdOtetalEO OO ODOOODOOODOO

3.5.1 0O0OOOoOn

gbogbogboboboobuogboboboboobooboboobooobd
gbooboooboobbooboooboobbobboo1l1obbooboon
O0000-1000000000 tetalED [-OO00D0OO0|ODO00O0O0O0OOOOOO
gbgobgobobbobobobooboobooboon

total E—0D000 E
ooooooo =22 = (3.2)

ggbbobuoogobobbuoooobood

boundary_E = ($min[3]-(-$atom_include.size))/($ny/cos($theta))*$nz)
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00000 tetalEDO OO Smin(3] 000 0000O0OOOOOOOOOODOOO0O
00000000 (dncludesize) 000000000 OtotalEDOOOODODOO
gooobooooouoodoouooooooonoonoooonooboon
ny/cos® D nzOODODOOODOOOO0DOOOO0ODOOOOny/cos® 0ODOOO 3.80
0o00doxdodooooodoooddd x00000ooooooooon
Oo0ooobOoOe 00000 ny00OOOODODODOOO nxOODOODOOOOO
U00nxO00000o0ooooooonoooooonooooooboooooon
O nx,ny,nz=1,1,1 8 =arctan(l/n) 000 n=20000000 (x,y,2,n)=(1,1,1,2)
oo ooooooooooooooooonon
00000000 (xyzn)=(1,1,1,2),(2.2.2.4),(2.4,2.8),(2.8,2,16) 0 0 000 0 O
D00 Darctan(1/2) 0000000 (2,1,22)000000000000000
0000 arctan(1/2) 0000000000 (2,1,2,2) 0000 arctan(1/4) 00 O
0(2224)000000000000NLODDODOOOOOS00O0ODOOOOODO
gooo=000000000000o0000dd -gooooooooooon
godoobooouoonoooonooonoooboooogg

E/S
4.0

30 _—

2.0 e

0 6
0 75 15 225 30 37.5 45 525 60

0 312 000000006000

08 =arctan(1/2)00006 0 0.46360 00000 arctan(1/n)0 nO0 00 4,8,16
gogobobbbouogbobouoooooobbobobobbboouooooood
gbboooboobodboobbobboobuodbidn=800 n=160000
000000000000 000000000Oarctan(1/16)00000000
gobbbooooboboooobboboooooo
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3.5.2 00O
gbooooooboobooboobooobobobobooo MayaOO oo d

000000000000000 nx,nynzn=(2,1,2,2),(2,2,2,4),(2,4,2,8),(2,3,2,16)
000000000

%

@ &
v VQ g 0 0°
%ol - .:'b.:.,o‘:.
o ¢ ® Voo o 0¥

0 3.14: arctan(1/4) 00 O
O 3.13: arctan(1/2) 0 0 O

 TYY KXY L

L L XYAT R R

".Hboqpoll. ilq:-::-::

PPt LRS- cesiilee
o

©P0080%9 seeetses

2osg 088 IilIiily

u.;o‘ syt so8s Wted

8

& 8,08 8°% g2¢8 p 333

FY R 'tt

O 3.15: arctan(1/8) 0 0 O & '-l. 3% %

0 3.16: arctan(1/16) 00 O

OMayaOOOOOOODOODOOOD B4O0O0OO0ODODOOOOOOOODOOO (NLO
0)0 12000000011 00001000000000000O0O0DODOOOOO
gbogooobooboobobobbooboobbooboobboooboon
gbogoobooboobbuoobuoobbooboobboobuoobbon

goobbobobougoogobbbobodooooobobobboooooon
g
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0 arctan(1/4),arctan(1/8) 0000 00000000000000000000
OOarctan(1/16) 000 0000000000000000000000000O0
0000000000000000000000000000000000000
arctan(1/2) 000 00000000000000000000C0O0O0OyOOO
000000000000000000000000000000000000
0000000000000000

3.5.3 UUOUOUggg

gbobobobooooNLOooobobobobooooboboboobg
goboooogod

oo -0o0obobbooooo

3.times do
for $dy in O..$nrange do
for $dz in O..$nrange do
brent ($xrange0,15.0,$xrangel,0x,1.0e-2,0.0)
end
end
relaxed()
end

ggobbbobbodugoogobbbbodooooobbobbboooooon
O00OMayaOOOOQODOOODOOOOODOODOODODOOODOODOODODOOO

goboooboog3bboood

$inner_rel=%atom_include.size //0000O0O0O0O
!
$inner_rel=%atom_include.sizex3 //00 000000

0000000 01000000000000000000000000000
0000000000000000000000000000000000000
000000000000000000000
000000000NLOOOO0.900 1.40000

00 InnerRelax 00 0000 00 makeNL(0.9) O makeNL(1.4) 0000000
arctan(1/16) 000 0000000000000000000000O000O000
0Doooo

25



E/S
4.0

3.0

2.0

0 75 I5 225 30 375 45 525 60

O 3170000 NLODDOOoo=00

O NLO.9 O NL1.4
7.156 1.01 7.156 .98
14.257 1.32 14.257 1.22
28.086 2.07 28.086 2.01
53.153 3.68 53.153 3.56

0 318 00b0

gobbobuooobbboooobbbuoooobboooobbbooad
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40 OO

gogbbobooooboboooooboon

e JIDDOODwbyOODOODOODOODOODOODLDODOODOODLDDO
gboboboboogbbuooobboobbobboooobbooboobo
gbbodbbogbooobooobuooobuoobboobbogoo
gboooboobboobboobuoobboobuoobboobon B4
goboob MayaOOQOoooooobooobooobobooooobd
gbbodboboogbouoooboobbuoobbuoobboobobodobo
gogooobod

e I IDUODOODLUODUDDOUDLODLDOURennard-Jones OO OOO
gobooboboboboboooobooboboboboooooooboo B4 O
OObD0Obrent O MCOOODOODOODOODOODOOODODOODOO
gbbogbbuoobboobobooobdobboobboobboabn
gobobobobuggboooobboooobbooobboooooo
gogbbobooogboo

e UL OOObLOOODLDOODLDOLODLDOODLDLOUObLDLOOn
gbobogoboodoogbboobbuogoboobbogoogoboon
gboboooboodbboobbuoobobooobboobbbodobn
goggobobbboobbobooooooooooboboboobbooouood
O0b00obooboobooooooob MayaODODOOOOOOOODOO
goboboooobon
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L] [

gogobobobobbobbbbboddoooooobboboobbbooogod
ggbbbuoooobbooodoobon
goobbobbbooooooobboobboooooooboboobooooood
ggobbbbuodooooobbbbbduooodoobbbbboooooon
ggbbobooooboboboooooboon
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HRERERE

(1) 0000 0 000000000000 1978)
2] 0000 0 0000000 (00000 1978)
3] 0000 0 000000000 (D000 2006)

4] CKittel 0 0000 OO0 O0O0O0ODO OO0 O0O0O0 OO0 O0OoOoOOO
000000 0800(00 2005)
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L] [

20000bbooooboboboooobobbuoogono

require ’pp’
include Math
require ’scanf’
size = {
:nx => ARGV[0].to_i,
:ny => ARGV[1].to_1i,
:nz => ARGV[2] .to_i,
:theta => atan(1.0/ARGV[3].to_f),

file = open(’POSCAR.txt’)
pos=[]
while line = file.gets do
if /Direct/ =" line
while line = file.gets do
posO=line.chomp.split(" ")
posi=[]
pos0O.each do |pl
posl << p.to_f
end
pos << posil
end
end
end
file.close

def extend(pos,size)
atom_pos=/[]
for i in 0..size[:nx] -1 do

for j in 0..size[:ny] -1 do
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for k in 0..size[:nz] -1 do
pos.each do |pOl

pl=I[]

p1[0] = pO[0]+1.0%*i
p1[1] = pO[11+1.0%j
p1[2] = pO[2]+1.0%k
atom_pos << pl

end
end
end
end

return atom_pos
end

def rotation(pos,size)

pos2=[]
pos.each do |posi|
tmp = []

tmp << posl1[0]*cos(size[:thetal]) + posl[1]*(-sin(size[:thetal))
tmp << pos1[0]*(sin(size[:theta])) + posi[1l]*cos(sizel[:theta])
tmp << pos1[2]
pos2 << tmp
end
return pos2
end

def translation(pos,size)
dx = sizel[:nx].to_i * cos(sizel[:thetal)
dy = sizel[:nx].to_i * sin(sizel[:thetal)
10 *sizel[:ny].to_i.times do
for i in 0..pos.size-1 do
if pos[i][0] < -0.00001 then
# if pos[i] [0] < O then
pos[i] [0] = pos[i] [0]+dx
pos[i] [1] = pos[i] [1]+dy
end
end
end

return pos
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end

def mkMirror(pos)
dummy = Marshal.load(Marshal.dump(pos))
for i in O0..dummy.size-1 do
dummy [i] [0] = dummy [i] [0]-2*dummy [i] [0]
end
dummy .each do |pl|
pos << p
end
pos=Remove_duplicate(pos)
return pos

end

def Remove_duplicate(pos)
for i in 0. .pos.size-1 do
if pos[i] [0] < 0.0001 && pos[i] [0] > -0.0001
pos[i] [0] = 0.0
end
end
pos = pos.uniq
return pos

end

print "nx=",size[:nx],"\n","ny=",size[:ny],"\n","nz=",size[:nz],"\n","cf=",ARGV[3]

pos=extend (pos,size)
pos=rotation(pos,size)
pos=translation(pos,size)

pos=mkMirror (pos)

for i in 0..pos.size-1 do
printf ("%f %f %f\n",pos[i] [0],pos[i] [1],pos[i] [2])
end

pPp pos.size

file = File.open(ARGV[4],’w’)
file.printf("%s %f \n","nx=",size[:nx])
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file.printf("%s %f \n","ny=",sizel[:ny])
file.printf("%s %f \n",'"nz=",size[:nz])
file.printf ("%s %f \n","cf=",ARGV[3].to_f)
file.printf("%s \n","Direct")
for i in O..pos.size-1 do
file.printf ("%f %f %f\n",pos[i] [0],pos[i] [1],pos[i][2])
end
file.close

s0boboooooobobobobbbbbbbboboboboooooooooooood
gogd

include Math
require ’pp’

require ’matrix’

class Atom
attr_accessor :pos, :posO, :nl
def initialize(pos)
@nl=[]
@pos=Array.new(pos)
@posO=Array.new(pos)
end
def energy()
ene=0
nl.each do |jl
ene+=ij_energy(distance(@pos,$atom_list[j].pos))
end
return ene
end
def reset_nl()
@nl=[]
end

A0=1.587401051
EO=-1%4.0/12.0
def ij_energy(r)#LJP
a=1.0/(A0*r)
return EOx((a**6 )-(a*x*12))
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end
end

def makeLattice()
file = open(ARGV[0])
atom_list=[]; n=[]; i=0
while line = file.gets do
if /Direct/ =" line
while line = file.gets do
posO=line.chomp.split(" ")
posi=[]
pos0O.each do Ipl
posl << p.to_f
end
atom_list << Atom.new(posl)
end
end
end
file.close
make_L()
return atom_list
end

def make_L()

$n=inputsize()

$nx = $n[0]
$ny = $n[1]
$nz = $n[2]
$cf = $n[3]

$theta=atan(1.0/$cf)

1x = 100
ly = $ny/cos($theta)
1z = $nz
pp $theta
$L=[1x,1y,1z]

end
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def inputsize()
file = open(ARGV[0])
$n=_]
while line = file.gets do
if /Direct/ =" line
else
n0 = line.chomp#.split(" ")
$n << n0.to_1i
end
end
file.close
return $n

end

def distance(a,b)

tmp=0

for i in 0..2 do
x=a[i]-b[i]
x=x-(x/$L[i]) .round*$L[i]
tmp+=x*x

end

return sqrt(tmp)
end

def mkAtom_include
atom_include=[]

-100

100

$atom_list.each do |i_al

max_X

min_x

if i_a.pos[0] > max_x then
max_x = i_a.pos[0]
elsif i_a.pos[0] < min_x then
min_x = i_a.pos[0]
end
end

$atom_list.each_with_index do |i_a,idx|
if i_a.pos[0] < max_x-0.51*cos($theta) && i_a.pos[0] > min_x+0.51*cos($theta)
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atom_include << idx
end
end
return atom_include

end

def makeNL(rc)
$atom_list.each do |ail| ai.reset_nl end
nmax=$atom_list.length-1
for i in O..nmax do
ai=$atom_list[i]
for j in i+1..nmax do
aj=$atom_list[j]
if distance(ai.pos,aj.pos)<rc then
ai.nl << j
aj.nl << 1
end
end
end
end

def maxpos(pos)
max_x = —-100
pos.each do |i_al
if i_a.pos[0] > max_x then
max_x = i_a.pos[0]
end
end
return max_x
print "max_x=",max_x,"\n"

end

def minpos(pos)
min_x = 100
pos.each do |i_al
if i_a.pos[0] < min_x then
min_x = i_a.pos[0]
end

end
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return min_x
print "min_x=",min_x,"\n"

end

def block_move(dx,dy,dz)
$atom_list.each do |atom]|
if atom.pos0[0]>=0.0 then
atom.pos[0]=atom.pos0[0]+dx
atom.pos[1]=atom.posO[1]+dy
atom.pos[2]=atom.pos0[2]+dz
end
end

end

def total_E()
total_E=0.0
$atom_include.each do |il
total_E+=$atom_list[i] .energy()
end
return total_E

end

def diff_E(atom, j,dx)
e0 = atom.energy()
atom.nl.each do |il

if $atom_include.member?(i) then
e0+= $atom_list[i].energy()
end
end
atom.pos[j]+=dx
el = atom.energy()
atom.nl.each do |il
if $atom_include.member?(i) then
el+= $atom_list[i].energy()
end
end
diff_E=eO-el
atom.pos[j]l-=dx
return diff_E
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end

T=0.001
$trial=0
$accept=0
def InnerRelax(trial)
trial.times do
makeNL(1.9)
$atom_include.each do |il
atom=%atom_list[i]
for j in 0..2 do
if $MC then
$trial+=1;$accept+=1
dx=(1.0-2.0%rand())/100.0
atom.pos[j]+=dx
de=diff_E(atom, j,-dx)
if exp(-de/T)<rand() then #mc

$accept-=1
atom.pos[j]l-=dx
end
else

$trial+=1;$accept+=1
dx=(1.0-2.0*rand())/100.0
atom.pos[j]+=dx
de=diff_E(atom, j,-dx)

if de>0 then

$accept-=1
atom.pos[j]l-=dx
end
end
end
end
end
end
$nrange=10
$dy=0.0
$dz=0.0
def f(x)
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dx=x/100.0

dy=$dy/$nrange.to_f

dz=$dz/$nrange.to_f
# makeNL()

block_move (dx,dy,dz)

makeNL (0.9)

e = total_E()

return e

end

def mysign(a,b)
if b>=0 then c=(a).abs
else c=-1x(a).abs end
end

def hatena(a,b,c,d)
if a>=b then return c
else return d end

end

$min=[0.0,0.0,0.0,10000000]
$max=[100.0,100.0,100.0,-10000000]
$e1={}
def brent(ax,bx,cx,x,tol,xmin)
cgold=1.0-2.0/(1.0+sqrt(5.0))
zeps=1.0e-8
e=0
d=0

if ax<cx then a=ax else a=cx end

if ax>cx then b=ax else b=cx end

x=bx ; w=bx ; v=bx
fu=f (x) ;fv=f (x) ;fx=f (x)
for j in 1..50 do
xm=0.5% (a+b)
toll=tolx(x) .abs+zeps
t012=2.0%tol1l
if (x-xm).abs<=t0l12-0.5*(b-a) then
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Xmin=x
print(x," \t",fx,"\n");
$e1[[$dy,$dz]] = fx
print("[",$dy,",",$dz,"] ",$el[[$dy,$dz]],"\n")
if $min[3]>fx then
$min=[x/100.0,$dy/$nrange.to_f,$dz/$nrange.to_£f,fx]
elsif $max[3]<fx then
$max=[x/100.0,$dy/$nrange.to_£f,$dz/$nrange.to_£f,fx]
end
break

end

if (e).abs>toll then
r=(x-w)*(fx-fv)
g=(x-v)*(fx-fw)
p=(x-v)*q- (x-w) *r
g=2.0%*(q-r)

if g>0.0 then p=-p end
g=(q) .abs
etemp=e
e=d
if (p).abs >= (0.5xqg*etemp).abs || p<= g*(a-x) || p >= g*(b-x) then
e=hatena(x,xm,a-x,b-x)
d=cgoldx*e
else
d=p/q
u=x+d
if (u-a) < tol2 || (b-u)<tol2 then d=mysign(toll,xm-x) end
end

else
e=hatena(x,xm,a-x,b-x)
d=cgoldx*e

end

u=hatena((d) .abs,toll,x+d,x+mysign(toll,d))

fu=f (u)
if fu<=fx then
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if u>=x then a=x

else b=x end

v=w;w=x;x=u;fv=fw;fw=fx;fx=fu
else

if u<x then a=u else b=u end

if fu<fw || w==x then v=w;w=u;fv=fw;fw=fu
elsif fu <= fv || v==x || v==w then v=u;fv=fu end
end
end
Xmin=x
end

def relaxed()
block_move($min[0] ,$min[1],$min[2])
print "relaxed() O :",$atom_list[0].pos[0]," ",$atom_list[0].pos[1]," ",$atom_lis
InnerRelax($inner_rel)
makeNL (0.9)
$min[3] = total_E(Q)
pp $min([3]
# $relaxed_pos = Marshal.load(Marshal.dump($atom_list))
end

$xrange0=0

$xrange1=30
$atom_list=makelLattice()
$atom_include=mkAtom_include()

$t0=Time.now

for $dy in O..$nrange do
for $dz in O..$nrange do
brent ($xrange0,15.0, $xrangel,0x,1.0e-2,0.0)
end

end

$MC=true#MCO OO O0O0O0O true OO OO OO false
$inner_rel=%atom_include.size
relaxed()
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print "OOOOOOOOO ",Time.now-$t0," \n"
atom_idx=[]

for i in 0. .$atom_list.size-1 do
atom_idx << i
end

if $MC

print("mc 00O 0O OO \n")
else

print("0 0000000 \n"
end

pp —$atom_list.size

pp —$atom_include.size

pp $min[3]

boundary_E = ($min[3]-(-$atom_include.size))/($ny*(1/cos($theta))*$nz)
print("1POSCARO D OO DO ODOOODN :",boundary_E,"\n")

file = File.open(ARGV[1],’w)#0 00000
file.print("nx,ny,nz,cf=",$nx," ",$ny," ",$nz," ",$cf,"\n")
file.print("theta:",$theta,"\n")
file.print("1/cos(theta):",1/cos($theta),"\n")
file.print("atom_include.size:",$atom_include.size,"\n")
file.print("min_E:",$min[3],"\n")
file.print("D_E:",$min[3]-(-$atom_include.size),"\n")
file.print("boundary_e:",boundary_E,"\n")
file.print("atom_include.size:",$atom_include.size)

file.close

file = File.open(ARGV([2],’w)#0 000
atom_idx.each do [il
min_x1=minpos($atom_list)
max_x1=maxpos($atom_list)
if $atom_list[i].pos[0] < max_x1-0.51*cos($theta) && $atom_list[i].pos[0] > min_:
file.printf("%f %f %f %d %f \n",$atom_list[i].pos[0],$atom_list[i].pos[1],$ato
else
file.printf("%f %f %f %d %f \n",$atom_list[i].pos[0],$atom_list[i].pos[1],$ato

42



end
end
file.close
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